Report

redundans_sb_01 redundans_sb_02 redundans_sjw_01 redundans_sjw_02 redundans_sjw_03 soap_bgi_01 pbjelly_sjw_01
# contigs (>= 0 bp) 3642 300593 2078 2315 7408 765755 696946
# contigs (>= 1000 bp) 18 137301 1971 2315 7408 184804 159429
# contigs (>= 5000 bp) 0 24009 1744 2282 7270 33792 68750
# contigs (>= 10000 bp) 0 6254 1202 1811 4127 8733 35320
# contigs (>= 25000 bp) 0 586 204 304 823 553 7048
# contigs (>= 50000 bp) 0 36 66 91 216 21 894
Total length (>= 0 bp) 968128 546928670 29303793 40561504 111139362 776306190 1253001795
Total length (>= 1000 bp) 25115 476206320 29235249 40561504 111139362 642346712 1140787867
Total length (>= 5000 bp) 0 220366692 28679494 40443936 110651100 302087694 932263178
Total length (>= 10000 bp) 0 99646272 24316776 36412694 86479013 131223850 691523275
Total length (>= 25000 bp) 0 19574809 9732934 14794719 37385867 17851807 261425921
Total length (>= 50000 bp) 0 2106424 5126002 7662042 17006058 1283294 57741906
# contigs 3642 300593 2078 2315 7408 765755 696779
Largest contig 3063 78788 252259 322397 256714 130073 194507
Total length 968128 546928670 29303793 40561504 111139362 776306190 1252987201
GC (%) 34.28 35.91 36.39 36.46 36.34 35.82 36.51
N50 251 3852 16546 17679 16998 3635 11531
N75 230 1785 11588 12211 10536 1525 4835
L50 1513 36149 453 573 1724 54072 29266
L75 2519 88412 985 1274 3823 136498 70271
# N's per 100 kbp 3121.49 957.75 917.67 695.24 626.41 17634.69 6456.30

All statistics are based on contigs of size >= 100 bp, unless otherwise noted
(e.g., "# contigs (>= 0 bp)" and "Total length (>= 0 bp)" include all contigs).
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